N = 0l & At & M A

20199 &= =0 & LS &F

SN ALSI S X
B Fo)s 25 L X
& FUSX MHIAAY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A3l = X 2t 118,418,125 102,427,086 15,991,039
= 83,426,657
Al 30,536,711
- 4,454,757
FHAAHE £S5 & XA 3,828,236 3,884,345 256,109
= 388,000
Al 3,114,100
- 326,136
FUSX MHIAAY 3,828,236 3,884,345 256,109
= 388,000
Al 3,114,100
- 326,136
AN Atsl =X 23,150 558,250 A 535,100
201 et 21,350 21,250 100
01 At 22l 6,350 12,250 25,900
OXNGASEEHEAM 32 B 5,600
-HE(AR)EAM 3o S8+
70,0003 20 *4 3| 5,600
OXS AR EE HXE AMBHEAM W=
15,000& 505 750
03 A2 Z Hl 15,000 9,000 6,000
osxeas 15,000
203 YR =&t 1,800 2,000 A 200
03 MM FAH S Z=AY| 1,800 2,000 A 200
O=sXIIgr2= 2453t 2,000,000& *90% 1,800
SNEESRE AJIEH 9,000 6,000 3,000
201 Let24d] 9,000 6,000 3,000
01 At 2teltl 9,000 0 9,000
OSXYeNA A5 = 9,000
EE2 A 1,205,450 818,800 386,650
Al 1,161,600
- 43,850
201 ¢er24| 2,350 3,050 A700
02 =224l 2,000 2,000 0
O8SANE =5 22/t 2,000
03 & Ar2 I 350 1,050 A700
O4.198F J1E MESEA =2 A 350
-Z25E U BASE(E, W S) Y 350
301 et a = 1,201,100 811,500 389,600
Al 1,161,600
T 39,500
01 MEIBEE 2063 1,188,800 799,200 389,600
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2AM: M=KD
B Fo)s 25 L X
o2l FEX MHAAMY (cho &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
307 QI2t0| & 1,277,000 1,172,780 104,220
Al 1,277,000
10 AR SXAIEEE2IHIEX 1,277,000 1,172,780 104,220
OAIgl 2 X2 29| 1,277,000
-3 ISEAMISX 2 683,000
Al 683,000
- S ZEEAIS S X2 594,000
Al 594,000
SIS EAMNIIEXZ 222H 25,000 25,000 0
307 QI2t01 ™ 25,000 25,000 0
10 AR SEXAIEEE2IHIEX 25,000 25,000 0
OZ2EIAZTE A =X 22 22| 25,000
ZoOPRN(Ya)X A 55,300 55,300 0
Al 53,000
- 2,300
307 212t0| & 55,300 55,300 0
Al 53,000
- 2,300
10 AIRISEXAIEEHE2IGHIEX 55,300 55,300 0
OJI=x%cdw3 294d| N 4,300
Al 3,000
- 1,300
OFc 03 294 K& 51,000
Al 50,000
- 1,000
SAD A AR XA MY 10,000 10,000 0
201 et A | 2,500 2,500 0
01 AR 22l ] 2,500 2,500 0
ORADAILX 81 2,500
301 dBtE A= 7,500 7,500 0
01 MSIEEE 262 7,500 7,500 0
ORdAD A AP A &Ml 7,500
C=IEsS 588,000 561,380 26,620
Al 588,000
307 QI2t0| ™ 588,000 561,380 26,620
Al 588,000
01 922 = H| 2,000 1,000 1,000
OkL=90 9= - eFxldl 2,000
Al 2,000
10 AIRISEXAIEEHE2IHIEX 586,000 560,380 25,620
OL=0XEAE 2| 586,000
—-35|2oE SHH| 373,000
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4,500
A45,500
A 45,500

A 45,500

H3r
Wikd
RIS

1,023
1,023

600

12,440

12,440
12,440
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A AMIEX
B Fo)s 25 L X
¢ FUSI MHIAAY (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
301 Bt A= 106,704 115,200 N 8,496
Al 30,000
- 76,704
0B AR ER2IAL A= 106,704 115,200 N 8,496
OANZ=EXNYEEX A ELRA SAlH| 27,360
Al 12,000
5 15,360
OMESXAIE AIERLIF SAH| 79,344
Al 18,000
- 61,344
AAs CSME BE 97,358,922 83,545,173 13,813,749
= 73,126,503
Al 20,218,017
- 4,014,402
Lol =X5A 97,358,922 83,545,173 13,813,749
= 73,126,503
Al 20,218,017
- 4,014,402
LOSEXEY Jd2FX 900 1,000 A 100
203 ¥ 2 =& 900 1,000 A 100
03 Al 2 =& 2 = X H| 900 1,000 A 100
OLo=2XNEM 2= 1,000, 000& *90% 900
MAZSH (ol 722,778 782,723 A 59,945
= 650,500
Al 72,278
301 Lt A= 722,778 0 722,778
= 650,500
Al 72,278
01 Al E & A 462 722,778 0 722,778
OLQ=EXAIAE MHAZSN 722,778
2 650,500
Al 72,278
AZAE 29Hl X 927,599 910,369 17,230
2 649,319
Al 278,280
307 QI2t0| & 927,599 910,369 17,230
= 649,319
Al 278,280
10 MM SAANEEHESIGHEX 927,599 910,369 17,230
OAZANE 2IH| 927,599
= 649,319
Al 278,280
AZANE SAK EXNE=E NR 22,800 21,600 1,200
Al 22,800
307 212t0| & 22,800 21,600 1,200
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SN ALSI S X
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
Al 22,800
10 ALSISXAIEEE 22X 22,800 21,600 1,200
OSLZAE ML SEX=E 22,800
Al 22,800
LZ AL oF2tAHerd oAy X 38,400 38,400 0
Al 38,400
307 21201 A 38,400 38,400 0
Al 38,400
10 ALSISXAIEEE2IHEX 38,400 38,400 0
OLZ AL OF2-3HI1= elAH| 38,400
Al 38,400
LoI=EX2 244 XN 600,860 560,507 40,353
Al 420,602
- 180,258
307 gl2tol & 600,860 560,507 40,353
Al 420,602
- 180,258
10 AL SXNAIEEE2EHEX 600,860 560,507 40,353
oke=sxa 244l 600,860
Al 420,602
T 180,258
LOo=ET2 BAL SHEEN XA 15,680 15,680 0
Al 15,680
307 212+0| & 15,680 15,680 0
Al 15,680
10 ALSISXAIEEE 22X 15,680 15,680 0
OLQ=X2 SAXN SHEEN 15,680
Al 15,680
QS FRZAIE 23H XA 63,594 57,349 6,245
Al 63,594
307 21201 A 63,594 57,349 6,245
Al 63,594
02 UAFAAFEE 63,594 57,349 6,245
OZeZd FULAE &=l 63,594
Al 63,594
LQAAE STt NE 493,795 514,000 A 20,205
Al 493,795
307 gl2tol & 493,795 514,000 A 20,205
Al 493,795
10 AL SXNAIEEE2EHEX 493,795 514,000 A 20,205
OLRAALE S2=It K& 493,795
Al 493,795
LOIRAAE SALN EXN+E 288,960 280,520 8,440
Al 288,960
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SN ALSI S X
Hu: AUE LEME P
Sl ol 2N S CERED
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 288,960 280,520 8,440
Al 288,960
10 AL SXAIEEE2EHEX 288,960 280,520 8,440
LORAAE BALN SEXE 288,960
Al 288,960
d2Y 294l KNI (BZAY) 234,400 259,700 A 25,300
Al 187,520
T 46,880
307 glz2+ol & 234,400 259,700 A 25,300
Al 187,520
T 46,880
10 ALSISXAIEEE2EHEX 234,400 259,700 A 25,300
OZz€ 244 XN& 234,400
Al 187,520
- 46,880
429 294 N2 (MMAILD) 112,620 110,940 1,680
307 21201 A 112,620 110,940 1,680
06 2= 900 900 0
OZ2Y Zofitha MAESE XNIIRE=S 900
10 AL SXAIEEE2EHEX 111,720 110,040 1,680
OZxgY 29Hl XA 111,720
4E Z2Y A= 6,650 6,550 100
Al 3,325
- 3,325
301 et a3z 6,650 6,550 100
Al 3,325
T 3,325
01 MEIBEE 263 6,650 6,550 100
OUA g 92 6,650
Al 3,325
- 3,325
Z2Y =3lZz2 )8 22|k iRl At 34,358 33,942 416
Al 17,179
- 17,179
307 2201 A 34,358 33,942 416
Al 17,179
- 17,179
11 ALS S RALEE = 34,358 33,942 416
OZ2Y &3 Z=2 08 22| Xt B Xl 34,358
Al 17,179
T 17,179
Z2Y 43 Z20H MY 16,850 20,000 A 3,150
Al 16,850
307 glz2tol & 16,850 20,000 A 3,150
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2AM: M=KD
Hu: AUE LEME P
e Lol EXsX (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al 16,850
11 A SAAEE X 16,850 20,000 A 3,150
OZ2Y 243 TZ ) Al 16,850
Al 16,850
MIOL=QIEXAE 29 K& 340,956 320,240 20,716
Al 340,956
307 212t0| & 340,956 320,240 20,716
Al 340,956
10 AIRIEXAIEEHAE2IGHIEX 340,956 320,240 20,716
OMIMIL=Q=XAIE 2H|l A& 340,956
Al 340,956
LOIFOIAESHE 234 K& 170,000 145,050 24,950
Al 170,000
307 Q12t0| & 170,000 145,050 24,950
Al 170,000
10 Al SXAIEEE2IHIEX 170,000 145,050 24,950
OLoFOIAESHEH 224 XA 170,000
Al 170,000
COFORABSHE(HII2S) 2HH X 40,000 50,000 10,000
Al 40,000
307 QI2t0| ™ 40,000 50,000 A 10,000
Al 40,000
10 AR SXAIEEE2IHIEX 40,000 50,000 A 10,000
OLQFOIAESHEH(HIIES) 294 X 40,000
Al 40,000
=132 X2 84,647,430 72,477,061 12,170,369
= 67,717,944
Al 13,543,589
- 3,385,897
301 YerE A3 84,647,430 72,477,061 12,170,369
= 67,717,944
Al 13,543,589
- 3,385,897
01 AL B & X 4352 84,647,430 72,477,061 12,170,369
OJI=d32X2 84,647,430
= 67,717,944
Al 13,543,589
- 3,385,897
CoEEIISAHUIAASX 903,980 500,512 403,468
= 632,780
Al 271,200
307 QI2t0| & 903,980 500,512 403,468
= 632,780
Al 271,200
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SN ALSI S X
Hu: AUE LEME P
Sl sol 2XEX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 903,980 500,512 403,468
OkLolssIIENMEIAAS I A 903,980
2 632,780
Al 271,200
Lo SESESMUIAMSXR 851,654 630,843 220,811
= 596,158
Al 255,496
307 21201 A 851,654 630,843 220,811
= 596,158
Al 255,496
11T MISXASEX 851,654 630,843 220,811
O =SS MBI AAMSRE 851,654
= 596,158
Al 255,496
SO JFA AT HI A AP X 2 4,156 2,635 1,521
2 2,909
Al 1,247
307 21201 A 4,156 2,635 1,521
= 2,909
Al 1,247
11 ALS S XAEE = 4,156 2,635 1,521
OSINI AL HI AALS KT & 4,156
= 2,909
Al 1,247
SHLO SSZM SsSHHLH M A 2EXE 39,448 39,448 0
= 19,724
Al 19,724
307 Q12+0| & 39,448 39,448 0
2 19,724
Al 19,724
11T MISXAISEX 39,448 39,448 0
O=Nke SSTM SSHHLEAHA 2
XA 39,448
= 19,724
Al 19,724
SOUEL NN BEEXNEE N 189,900 183,800 6,100
Al 189,900
301 et d = 189,900 183,800 6,100
Al 189,900
01 MEIEBEZE+05l= 189,900 183,800 6,100
SPOUGSLAMN EEXNFS XS 189,900
Al 189,900
I2Y RAE=x 82,500 80,000 2,500
401 Al HIZ 201 8] 80,000 80,000 0
01 Al gl 80,000 80,000 0
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S ASIS D
HH: AYS LBME BT
ool ol 2NEA EERED
SH B S(SH) - MPAY - B2 O 4t o4 il HRZ2
OZ2Y KANE=H 80,000
405 Xt&tE =HI 2,500 0 2,500
01 AL ESH SH 2,500 0 2,500
OF2Y L& oo DA 2,500
d2Y S3ME A 24,000 23,200 800
Al 12,000
- 12,000
401 AIEHI L 2] 24,000 23,200 800
Al 12,000
- 12,000
01 A& HI 24,000 23,200 800
OZ32g SZMHAHI 24,000
Al 12,000
T 12,000
HSEHE Mot Ql AAIHE 52,675 52,675 0
Al 52,675
307 21201 & 52,675 52,675 0
Al 52,675
A S XA E X 52,675 52,675 0
ONESHE MItwol AAIEY 52,675
Al 52,675
d2AY RE2IAANG(BEX) 192,934 220,496 N27,562
Al 192,934
307 glztol & 192,934 220,496 N 27,562
Al 192,934
1A SXAIE E = 192,934 220,496 N 27,562
ogzag XN& 192,934
Al 192,934
Fd2AY R2ZAAY (XA 12,000 9,000 3,000
201 LEr2 A | 8,000 7,000 1,000
01 At 2t2l bl 2,000 1,000 1,000
OzAY 29| 2,000
02 2324l 6,000 6,000 0
OZZ2AE NERI & 2 6,000
405 Xt&tE S HI 4,000 2,000 2,000
01 AL ESFH SHI 4,000 2,000 2,000
OgdzAalg ¥i=¢ 4,000
ColuAa 2| 36,000 36,000 0
Al 32,400
- 3,600
307 21201 & 36,000 36,000 0
Al 32,400
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2AM: M=KD
HE: AYS SME BF
ool Lol =X EX (SHol: @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- 3,600
10 AR SEXAIEEE2IHIEX 36,000 36,000 0
Okouna 29dl XI& 36,000
Al 32,400
- 3,600
AMLUNEY 29 274,908 259,776 15,132
Al 234,404
- 40,504
307 212t0| & 274,908 259,776 15,132
Al 234,404
- 40,504
10 AIRIEXAIEEHAE2IGHIEX 274,908 259,776 15,132
OAlLIZEE 2d9Hl X& 274,908
Al 234,404
- 40,504
Colgdxiel € ASESsSKE 2 5,568,218 4,735,054 833, 164
= 2,784,109
Al 2,784,109
307 2Iz2t0| A 5,568,218 4,735,054 833, 164
=2 2,784,109
Al 2,784,109
11 AMISAAEE X 5,568,218 4,735,054 833, 164
OkoldXiel & AISIEs AFEH XIS 5,568,218
= 2,784,109
Al 2,784,109
LOIEXAIYE ASISHASsLE2ES K& 48,779 24,143 24,636
Al 12,000
- 36,779
307 QI2t01 ™ 48,779 24,143 24,636
Al 12,000
- 36,779
02 DI2ZtF AAEE X 17,443 14,143 3,300
O s2es A 10,943
OZ=2E3H Lo Il 3,200
O&JI - "=tz K& 2,000
OHOlY &AF 0 XI& 500
OLololy Al &0 X& 800
03 AAHNNEESIHES 27,336 6,000 21,336
Oty s2gs 24l 24,000
Al 12,000
- 12,000
Od=zg & 29| 3,336
-MIIe3 300,000 ~6& 1,800
-s2J|K X2l 150,000 ~6& 900
-sdJHaHEe2 6,000& x6& 36
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SN ALSI S X
Hu: AUE LEME P
Sl sol 2XEX CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- AYAE RN 2l 100,000 6 600
04 QIZFHALAIH B = 4,000 4,000 0
Oz FIHXE 4,000
Zd2Y JHtgd ¥ 22Hl X2 (He]) 216,400 0 216,400
= 54,100
Al 108,200
- 54,100
307 21201 A 216,400 0 216,400
= 54,100
Al 108,200
- 54,100
10 AL SXNAIEEE2EHEX 216,400 0 216,400
OZ2% s&J| veH XA 216,400
= 54,100
Al 108,200
- 54,100
d2Y gyl 2 22Hl X () 27,200 0 27,200
= 6,800
Al 13,600
T 6,800
307 glz2tol & 27,200 0 27,200
= 6,800
Al 13,600
T 6,800
10 ALSISXAIEEE2EH EX 27,200 0 27,200
OZ2Y GtEJ] Wl XA 27,200
= 6,800
Al 13,600
- 6,800
ZE2Y gy ¥ 22Hl X (L=3H]) 48,640 0 48,640
= 12,160
Al 24,320
- 12,160
307 21201 A 48,640 0 48,640
= 12,160
Al 24,320
- 12,160
10 AL SXAIEEE2EH EX 48,640 0 48,640
OZz2% 2324 XA 48,640
= 12,160
Al 24,320
T 12,160
LOI=ERAE HHEH 6,900 0 6,900
201 ¢4l 6,900 0 6,900
01 At 2t 2l 6,900 0 6,900
OFZEI dEFH Fo=+< 6,900

- 109 -




AN ALEI =X

Ha: FHOHOIo MOl B Sa

el Zojol AUBH (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

olo| &9 & &GFAb 17,146,693 14,910,924 2,235,769
= 9,912,154
Al 7,204,594
- 29,945

ool HASE 17,146,693 14,910,924 2,235,769
= 9,912,154
Al 7,204,594
- 29,945

MAZO () 216,111 214,444 1,667
= 194,500
Al 21,611

301 et A= 216,111 214,444 1,667
= 194,500
Al 21,611

01 AISIE& A %52 216,111 214,444 1,667
OXOMAUAHFTAE MHZ=A 216,111
= 194,500
Al 21,611

OO HFAY 2RI (EX) 2,250,460 2,237,305 13, 155
= 1,575,322
Al 675,138

307 2iz2to| A 2,250,460 2,237,305 13, 155
= 1,575,322
Al 675,138

10 MM SAANEEHESIGHEX 2,250,460 2,237,305 13, 155
OZOAHFAIAL AFAQI2AH| 2,114,460
= 1,480,122
Al 634,338
OZOHUANHFTAIE 2229 136,000
= 95,200
Al 40,800

ZOHCIHF=AIE AIHI XIS 72,113 69,087 3,026
Al 72,113

307 2Iz2t0| & 72,113 69,087 3,026
Al 72,113

10 MM SAANEEHESIGHEX 72,113 69,087 3,026
OZOMAHFAIE SAAN EXNE 66,000
Al 66,000
OFMAUAHFTAE ES2EH L EHEA 1,104
Al 1,104
OZOMAHFAIE ZEOHOI2Y 2FAH| 441
Al 441
OFOMAHFTAIE HEl0lY 2tAH| 263
Al 263
OFOMRUAHFTAIYE o AEH| 3,105
Al 3,105




AN ALEI =X

M mojolol MOl B s
Sl FOHY AABA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET

OFMAANFAIE LA24SHI 1,200
Al 1,200

Zoel Xiggol 2283 E At K& 25,562 22,562 3,000
Al 25,562

307 21201 A 25,562 22,562 3,000
Al 25,562

11T MISRASEX 25,562 22,562 3,000
OZofel XEgel 22X AT At X2 25,562
Al 25,562

ZOHAAATHEANE 2F XA 531,226 514,192 17,034
Al 531,226

307 21201 A 531,226 514,192 17,034
Al 531,226

10 M2 SXNANEHE2IHEX 531,226 514,192 17,034
OFMHAXATHEAIE HB QI 2AH| 443,170
Al 443,170
OZOMHAXATEAIL 22| 2FH| 38,056
Al 38,056
O22xyRs 2228y 29 X 50,000
Al 50,000

ZOHAXATHEAIE THOLEOHQ! S4ldl K& 34,640 41,400 A6,760
Al 34,640

307 gl2tol & 34,640 41,400 A6,760
Al 34,640

10 ALl SXNAIEEE2EH EX 34,640 41,400 NB,760
OXOHAXATHE A S THOLEOHQ! ZSAH XI&A 34,640
Al 34,640

Zoer=X2 2 X2 1,002,854 889, 552 113,302
Al 1,002,854

307 glz2+ol & 1,002,854 889,552 113,302
Al 1,002,854

10 ALSISXAIEEE2EH EX 1,002,854 889, 552 113,302
OS2 HAAHH| 916,785
Al 916,785
OFf=R2 2el22l 86,069
Al 86,069

GEZMe s4dHE XA 5,000 5,000 0
= 3,500
Al 1,500

301 g2 L= 5,000 5,000 0
= 3,500
Al 1,500

01 MEIEBEZE+05l= 5,000 5,000 0
OWgHMe E4&tHIE X 5,000




SN ALSI S X
M mojolol MOl B s
Sl FOHY AABA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
= 3,500
Al 1,500
o=t EBSAlE 2SR A 209,423 154,897 54,526
Al 209,423
307 gl2tol & 209,423 154,897 54,526
Al 209,423
10 AL SXNAIEEE2EH EX 209,423 154,897 54,526
OFHOMI=2tESAIE 2l AH| 185,423
Al 185,423
OZOMI=2HES AL 22| 2FH| 24,000
Al 24,000
I ZSSMEIE 2RISR 115,313 110,344 4,969
Al 115,313
307 21201 A 115,313 110,344 4,969
Al 115,313
10 M2 SXNANEHE2IHEX 115,313 110,344 4,969
O =SS HEIIE 22| 91,313
Al 91,313
OFfel=SH&IE 22l 24,000
Al 24,000
THSIHH 2N 157,904 146,350 11,554
Al 157,904
307 21201 A 157,904 146,350 11,554
Al 157,904
10 ALSISXAIEEE2EHEX 157,904 146,350 11,554
O%0{SAMEl Q12| 145,904
Al 145,904
Ox0EYHH 2el=2Ztl 12,000
Al 12,000
THLA2IEELE X2 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
11T M SXAIS EX 2,000 2,000 0
Ox=0uad2dagdst XA 2,000
SSHMHQ XSMBHAEHIIH 80,000 60,000 20,000
Al 80,000
307 21201 A 80,000 60,000 20,000
Al 80,000
10 ALSISXAIEEER2IHEX 80,000 60,000 20,000
O=SSZ MU HEHEH XA 80,000
Al 80,000
EX07 us 9,425 10,113 A 688
= 7,540
- 1,885




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

ZOHOl HASA

=

SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 9,425 10,113 A 688
= 7,540
- 1,885
01 MEI2EZE 45z 9,425 10,113 A 688
OFMUAEEIF WEALS 9,425
= 7,540
- 1,885
ZOHAUBE TR =ClAtY 105,220 105,620 A 400
Al 105,220
307 21201 A 105,220 105,620 A 400
Al 105,220
11T MISRASEX 105,220 105,620 A 400
OFMHAEEF =clAtY XI& 105,220
Al 105,220
ZOAERAE Al EHHSUES X 13,000 13,000 0
307 21201 A 13,000 13,000 0
02 B AAHEX 13,000 13,000 0
OZOHAEX SEs AtHl K& 13,000
Zoe sl N3 (EX) 5,121,721 3,782,344 1,339,377
= 3,585,205
Al 1,536,516
307 gl2tol & 5,121,721 3,782,344 1,339,377
= 3,585,205
Al 1,536,516
11T M SXALSE EX 5,121,721 3,782,344 1,339,377
OZMAES XIHAE 5,121,721
= 3,585,205
Al 1,536,516
ZOHES XIJAA AlHIZ=0t 286,644 217,325 69,319
Al 286,644
307 glz2tol & 286,644 217,325 69,319
Al 286,644
11T MISXASEX 286,644 217,325 69,319
OZOM &S XA AlHIFIt 286,644
Al 286,644
ZoEs XA A 2,380 2,380 0
201 Let24d] 2,380 2,380 0
01 At 2teltl 2,380 2,380 0
OFMHUESKNE &AAJ = 2,380
LEMEAMEA HRXH K& 824,924 559,578 265,346
= 577,447
Al 247,477




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

ZOHOl HASA

=

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

307 glz2tol & 824,924 559,578 265,346
2 577,447
Al 247,477

11T M SXASE EX 824,924 559,578 265,346
OLEmMa Ml A 824,924
= 577,447
Al 247,477

HHZLEXH B2*™ XA 4,385 2,000 2,385
= 3,070
Al 1,315

307 glz2+ol & 4,385 2,000 2,385
= 3,070
Al 1,315

11T MISAASER 4,385 2,000 2,385
OgEgxa 4,385
= 3,070
Al 1,315

234 s XA 6,900 3,300 3,600
= 5,520
Al 1,380

307 21201 A 6,900 3,300 3,600
= 5,520
Al 1,380

11T ALS S XAEE = 6,900 3,300 3,600
O33%d vl XA 6,900
= 5,520
Al 1,380

LML 2R 4EXE 1,000 740 260
= 700
Al 300

307 212+0 & 1,000 740 260
2 700
Al 300

11T M Z2XAISE EX 1,000 740 260
OgZHMe 24N 1,000
2 700
Al 300

LI FAESAHEAXRA 67,762 0 67,762
= 47,433
Al 20,329

307 21201 A 67,762 0 67,762
= 47,433
Al 20,329

11T MISAASEX 67,762 0 67,762
OLG T F=2ES Ml AKX2 67,762




AN ALEI =X

Ha: FHOHOIo MOl B Sa

Sl FOHY AABA CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 47,433
Al 20,329

LEIMC e SSHMEUAXE 71,772 0 71,772
= 50,240
Al 21,532

307 glz2tol & 71,772 0 71,772
= 50,240
Al 21,532

11T M SRAISE EX 71,772 0 71,772
Oggae Zus ssAHHIAXR 71,772
= 50,240
Al 21,532

Zoiolgdxiel X (Lot driel) 558,650 480,226 78,424
= 279,325
Al 279,325

301 et a = 558,650 480,226 78,424
= 279,325
Al 279,325

01 MEIBEE 253 558,650 480,226 78,424
OF Lt LRl AL 558,650
=2 279,325
Al 279,325

ool Riel NA(SXLRel) 216,480 158,760 57,720
= 108,240
Al 108,240

301 e A3z 216,480 158,760 57,720
= 108,240
Al 108,240

01 Mel28E+dl= 216,480 158,760 57,720
O&oel =XLXtel At 216,480
= 108,240
Al 108,240

ARSI HEAS ME 2,000 3,130 A1,130

201 €24 2,000 3,130 A 1,130

01 At 22l 2,000 3,130 A 1,130
OXHOeIXtsxt HAS HMZE 2,000

ZAE SH X2 3,734,903 3,574,357 160,546
= 2,614,432
Al 1,120,471

301 et a = 3,734,903 3,574,357 160,546
= 2,614,432
Al 1,120,471

01 MEIBEE 53 3,734,903 3,574,357 160,546
Oz 20 K= 3,734,903
= 2,614,432




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

Zojol AUBH

!

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

| Al 1,120,471

S (Ix) XS 612,000 617,614 N5,614
= 428,400
Al 183,600

301 Bt A= 612,000 617,614 N5,614
= 428,400
Al 183,600

01 M BEEE2G2 612,000 617,614 N5,614
OFM==IIx) X3 612,000
= 428,400
Al 183,600

NS (NARS) 2 384,652 358,014 26,638
= 269,257
Al 115,395

301 LBt A= 384,652 358,014 26,638
= 269,257
Al 115,395

01 MSIEEE G2 384,652 358,014 26,638
OXMHLEE(NHAMRAS) X2 384,652
= 269,257
Al 115,395

ZOHQ THE XS 168,000 180,000 A 12,000
Al 168,000

301 dBtE A= 168,000 180,000 A 12,000
Al 168,000

01 A3 E & X 435 2 168,000 180,000 A 12,000
O&OIMHE= 168,000
Al 168,000

ZoHelo=sdl X 127,533 200,638 ANT73,105
= 102,026
Al 25,507

308 AXISHXMSOIH 127,533 200,638 ANT73,105
= 102,026
Al 25,507

10 B2 SHUSHE A X AE A S| 127,533 200,638 ANT73,105
OZofelel=24Hl X 127,533
= 102,026
Al 25,507

MASA0HQ Ned] & 2 AHH X & 5,600 5,600 0
= 2,800
Al 2,800

301 et A= 5,600 5,600 0
= 2,800
Al 2,800

01 M3 EXEE %62 5,600 5,600 0




AN ALEI =X

Ha: FojoIol sl B A
Sl FOHY AABA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZOME S5 Tty 5,600
= 2,800
Al 2,800
SSEMAUI T SEAHE AL HI 4,000 4,000 0
307 21201 A 4,000 4,000 0
11T MISRASEX 4,000 4,000 0
OSSEMUIT I ME AL HI 4,000
ZojoI L Rel XA (Al2tH L Xtiel) 100,612 86,436 14,176
= 50,306
Al 50,306
301 et a3z 100,612 86,436 14,176
= 50,306
Al 50,306
01 Ml28E+06l= 100,612 86,436 14,176
QX Ll X2 (AlZHH L Rtel) 100,612
= 50,306
Al 50,306
Zoe s K3 (Ota3H) 9,844 9,844 0
= 6,891
Al 2,953
307 12+l & 9,844 9,844 0
= 6,891
Al 2,953
11T M 2XAISE EX 9,844 9,844 0
QX 2=sXN2S30H X (IH&=0) 9,844
= 6,891
Al 2,953
LSO AAINL AL 4,680 4,680 0
201 Let24E] 1,680 1,680 0
01 At 22l I 1,680 1,680 0
OLE e XNFAAAS g FA=E 1,680
307 21201 A 3,000 3,000 0
11 AL SXAEE = 3,000 3,000 0
OLG T AL AY XA 3,000
HE2H AU (ALS =S X1t 84,274 86,644 N2,370
Jl=&l 84,274 86,644 22,370
Jl=&l 84,274 86,644 22,370
201 Let249] 16,264 16,264 0
01 At 22l 16,264 16,264 0
O=EAEXN 7¢ 20,0002 60 A 1,200
O 2,680
—-ZeH 176,000 »3CH »32 1,584

- 117 -




S A AL ST
M HNY2AAH| (A3 =X D)

¢l =gl CEE-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
—ZeZelH 274,000 x4 A4 1,096
OBASY Jl242H| 10,000& x18H 128 2,160
OAZ2t2l 22X =4H|
8,000& x5 .54 x18H «12& 9,504
oulegxs= 15,000 4=« 12& 720
202 04d| 60,480 60,480 0
01 2L Hl 60,480 60,480 0
O2LH O bl 280,000 x18H x12& 60,480
203 ¥ 2 =Xt 6,570 6,900 A 330
01 JI22HYFFEH| 2,970 3,300 A 330
OZ2XNEM=% 3,300,000& *90% 2,970
04 EASHEIRFAH| 3,600 3,600 0
OBAM2HE P2 =X (202 0l5t)
300,000& x12& 3,600
405 XHAHF S HI 960 3,000 N 2,040
01 XAt 2 ZF S| 960 3,000 N 2,040
OXg HA R 160, 000 & 24 320
O&aE ox 7 200,000 =24 400
OZaE olsAgy ¢ 120,000 =21 240




